

$$g(w) = f(\sqrt{2} \cos w + \sqrt{2} \sin w) \rightarrow g'(w) = (\frac{1}{\sqrt{2}} - \sqrt{2} \sin w) f'(\sqrt{2} \cos w + \sqrt{2} \sin w)$$

$$g'(\frac{\pi}{4}) = (1-1) f'(1+1) \Rightarrow g'(\frac{\pi}{4}) = f'(2) = \frac{\sqrt{2}}{2} \rightarrow f'(2) = \frac{\sqrt{2}}{2}$$

$$f(x) = \frac{1+C_1 x}{1-C_1 x} = \frac{(1+C_1 x)(1-2C_1 x+C_1^2 x^2)}{(1-C_1 x)(1-C_1 x)} = \frac{1-2C_1 x+C_1^2 x^2}{1-C_1 x}$$

$$g(x) = \frac{x}{1-C_1 x} \rightarrow f(x) - 2g(x) = \frac{1-2C_1 x+C_1^2 x^2 - 2x}{1-C_1 x} = \frac{C_1^2 x^2 - 2C_1 x + 1}{1-C_1 x}$$

$$\rightarrow \frac{C_1 x(C_1 x - 2)}{1-C_1 x} = -C_1 \rightarrow h(x) = f(x) - 2g(x) \rightarrow -C_1 \rightarrow h'(\frac{\sqrt{2}}{4}) = \sin \frac{\sqrt{2}}{4}$$

$$f(x) = |x-3| \sqrt{x} \Rightarrow \begin{cases} (x-3) \sqrt{x} & x \geq \frac{9}{4} \\ (3-x) \sqrt{x} & x < \frac{9}{4} \end{cases} \quad \left| f'(\frac{9}{4}) - f'(\frac{9}{4}) \right| = 2\sqrt{4}$$

$$\Rightarrow ((11-4)\sqrt{x})' \rightarrow 11\sqrt{x} + (11-4) \frac{1}{2\sqrt{x}} \rightarrow 11\sqrt{x}$$

$$\Rightarrow 11\sqrt{x} = 11\sqrt{4} \rightarrow \frac{11\sqrt{4}}{11} = \sqrt{4} \Rightarrow \sqrt{4} \times \sqrt{4} = \sqrt{4} \times \sqrt{4} \Rightarrow \sqrt{4} = \frac{\sqrt{4}}{1} \rightarrow a = \frac{1}{2}$$

$$y+ax=2 \rightarrow y=-ax+2$$

$$f(x) + f'(x) = -1 \Rightarrow f(x) = -ax+2 \quad f'(x) = -a$$

$$\rightarrow -ax+2-a=-1 \rightarrow -2a=-3 \rightarrow a=\frac{3}{2} \rightarrow f'(x) = -a = -\frac{3}{2}$$

$$Vy-m=\omega \rightarrow y=\frac{m+\omega}{V} \Rightarrow \frac{m+\omega}{V} = \frac{am-1}{Vm+1} \rightarrow Vm^2 + 14m + \omega = Vam - V$$

$$Vm^2 + (14-Va)m + 1V = 0$$

$$\Delta=0 \rightarrow (14-Va)^2 = 16 \rightarrow 14-Va=4 \rightarrow Va=10 \rightarrow a=\frac{10}{V}$$

$$14-Va=-4 \rightarrow Va=18 \rightarrow a=\frac{18}{V}$$

$$f(a) = ar^n + a - b$$

$$\rightarrow f(r) = 0 \rightarrow 1 - \frac{r}{r} - b = 0 \rightarrow b = -1$$

$$f'(a) = r a^{r-1} + a$$

$$f'(r) = 0$$

$$\rightarrow 1r + a = 0 \rightarrow a = -1r$$

$$\rightarrow b = a \rightarrow -1r - (-1r) = 0$$

$$f(a) = \sum_{n=1}^{\infty} a^n \rightarrow f'(a) = \sum_{n=1}^{\infty} n a^{n-1} \times \sum_{n=1}^{\infty} a^{n-1}$$

$$\rightarrow \frac{f(a) \cdot f'(a)}{(1-a)^m} \Rightarrow \sum_{n=1}^{\infty} n a^{n-1} \cdot \sum_{n=1}^{\infty} a^{n-1} \Rightarrow \sum_{n=1}^{\infty} n a^{n-1} \cdot \sum_{n=1}^{\infty} a^{n-1}$$

$$\rightarrow (n+1) a^n \rightarrow (a^n) \times n a^n \times r a^n$$

$$\rightarrow \frac{r n + 1}{r} \times n = r \frac{n}{r} \rightarrow n = \frac{r}{r} \rightarrow n = 1$$

$$f(n) = \frac{\sqrt{n+1}}{\sqrt{n-1}} \Rightarrow f^{-1}(n) = \left(\frac{n+1}{n-1} \right)^r \rightsquigarrow f'^{-1}(n) = r \left(\frac{n+1}{n-1} \right)^{r-1} \left(\frac{n+1}{(n-1)^2} \right)$$

$$n=r \rightsquigarrow r(r) \times -r = \cancel{r-1}r$$

2

✓
1 جواب

$$\rightarrow \frac{f\left(1+\frac{1}{x}\right) - f(1)}{\frac{1}{x}} \rightarrow$$

$$f(x) = (x^r + 1)^r (ax + 1)^r$$

$$f(0) = 1 \quad f(-1) = (1-a)^r (1)^r = \frac{1 + (a-1)}{1} = -1$$

$$\rightarrow 1 + Aa - A = -1 \rightarrow$$

$$a = -\frac{1}{r}$$

$$ra = -1$$

$$-ra = 1$$

$$f'(x) = r x^{r-1} (x^r + 1)^{r-1} (ax + 1)^r + x^r (ax + 1)^{r-1} (a) = 11 - 4 = 17$$

$$D = \left[\frac{x}{r} \frac{d}{dx} \right]$$

$$y = \sin x \quad C_1 r_n \rightarrow a = \frac{x}{r} \Rightarrow 1 \times -1 = -1$$

$$f = \sin^r x - C_1 r_n \rightarrow \sin^r x - C_1 r_n \quad (\sin^r x + C_1 r_n)$$

$$\Rightarrow \sin^r x - C_1 r_n = -C_1 r_n$$

$$\rightarrow \sin^r x - C_1 r_n \rightarrow 1$$

$$\frac{1-x}{x} = \frac{1}{x} \rightarrow \frac{1}{x} \rightarrow \frac{1}{x} \rightarrow \frac{1}{x}$$

$$\frac{1}{x} \rightarrow \frac{1}{x} \rightarrow \frac{1}{x} \rightarrow \frac{1}{x}$$

$$\frac{1}{x} \rightarrow \frac{1}{x} \rightarrow \frac{1}{x} \rightarrow \frac{1}{x}$$